
2P190979-1

Warning Electric Shock Cautions

Punch out the 
knock hole on the 

left-hand side.

Knock hole on the front panel

On-site ground 
terminal

Insert the communications line into a wire clip 
together with the line connected to the outdoor unit.

Bind the communications line with a clamp together 
with the line connected to the outdoor unit.

Bind the communications line with a clamp together 
with the line connected to the outdoor unit.

Be careful not to tense the wire.

Communications 
linePower supply line

Ground wire

Bundle the redundant length 
portion so that the power 
supply line or ground wire 
will not come in contact with 
the conduit.

Insert the power supply line 
into a wire clip together with 
the line connected to the 
outdoor unit.

Bind the power supply line 
with a clamp together with 
the line connected to the 
outdoor unit.

Digital Pressure 
Gauge Assembly

Bind the internal wires 
with the large-sized 
clamp so that the wires 
will not come in contact 
with the thermistor.

Bind the power 
supply line and 
ground wire with 
a clamp together 
with the line 
connected to the 
outdoor unit.

Power supply 
line

Ground wire

Thermistor

Section B detail view

Section A

Section B

20 mm max.

Section A detail view

Right-hand-side 
panel

M5×12 screws

Digital Pressure Gauge Assembly

Communications line: Connector (blue)

Power supply line: Connector (white)
Ground wire

Resin bush

Gauge window 
label

Discharge pressure display

Gauge window 
label

Suction pressure 
display

MPa

MPa

Warning
Electric Shock 
Cautions

Close the lid of the electrical box and front 
panel before turning the product power ON. 
An electric shock may be received if your 
body comes in contact with electric parts.

Air conditioner2P190979-1

BHGP26A1 (E) (H)
Component Parts Tools required for installation

Cautions

� This Kit contains the following parts.

Parts name Digital Pressure Gauge Assembly

Error display

The LED indicator is not lit.

All LEDs blink.

“     ” blinks

1

2

3

Cause Remedy

Resin bush Clamps M5×12 screws M4×12 screws Gauge window label

Parts

Number 1 1 1 1 126

Phillips screwdriver Nippers

• The Kit includes accessories required for installation. Do not 
dispose of these accessories until the product is properly installed.

• Before performing installation work, check with a catalog or 
technical data sheet that the outdoor unit is compatible with the Kit.

On completion of installation, turn the outdoor unit and indoor unit power ON and make sure that pressures are dis-
played normally. When figures appear in the discharge pressure display and suction pressure display, the product is 
working normally. Refer to [Troubleshooting] on the right-hand side and take necessary remedies if no figures are 
displayed. If the trouble does not fall under any of the items described, contact your Daikin representative.

1. Turn the outdoor unit power OFF.
2. Remove the front panel. (If the model has two front panels (i.e., one each on the left-hand side and right-hand side), 

remove the panel on the right-hand side only.)
3. Remove the lid of the electrical box.
4. Refer to the                             and mount the Digital Pressure Gauge Assembly to the panel on the right-hand side.

[Parts used: Digital Pressure Gauge Assembly: 1; M5×12 screw: 2]
5. Secure the ground wire to the electrical box with a screw.

Refer to section B (detail view) in the                        for the screwing position. [Parts used: M4×12 screw: 1]
6. Connect the power supply line and communications line of the Digital Pressure Gauge 

Assembly to the control PCB (A1P) in the electrical box.
 · Power supply line: Connector (white) → X77A
 · Communications line: Connector (blue) → X27A
At that time, wire the communications line behind the Digital Pressure Gauge Assembly. 
(Refer to section A (detail view) in the                       .)

7. After connecting the power supply line, communications line, and ground wire, secure the 
wiring path according to the                       .
[Parts used: Clamps: small 6, large 1]

8. Mount the lid of the electrical box.
9. Punch out the knock hole with a diameter of 70 mm on the front panel. (Refer to the 

mounting dimensions on the upper right-hand side.)
10. Attach the resin bush to the knock hole on the front panel. [Parts used: Resin bush: 1]
11. Mount the front panel.
12. Paste the gauge window label to the front panel. Refer to the                                 for the 

pasting position. [Parts used: Gauge window label]

Installation procedure

Label pasting drawing

Work procedure Be sure to work with the outdoor unit turned power OFF. An electric shock may be received 
if your body comes in contact with electric parts with the outdoor unit turned power ON.

Operation 
Check

[Troubleshooting]

Wiring drawing Installation drawing

Sold separately Be sure to read and follow all the instructions in 
the Installation Manual when installing the product. 2P190979-1

Installation Manual of Digital Pressure Gauge Kit BHGP26A1 (E) (H)

LargeSmall

Power supply is not provided to 
the outdoor unit.

Provide power supply to the 
outdoor unit.

The connector of the power 
supply line is unplugged.

Insert the connector of the 
power supply line.

The power supply line is 
disconnected or damaged.

Replace the power supply line.

The communications line is 
disconnected or damaged.

Replace the communications 
line.

The outdoor unit is not 
compatible with the Kit.

Check with a catalog or technical data 
sheet if the outdoor unit is compatible 
with the Kit. If the outdoor unit is not 
compatible, this Kit cannot be used.

The outdoor unit has a defect. Refer to the Service Guide and 
remedy the problem.

There is a high-voltage line 
generating noise around the 
communications line.

Noise may be imposed on the 
communications line. Separate 
the high-voltage line.

The connector of the communi-
cations line is unplugged.

Plug in the connector of the 
communications line.

Installation drawing

Wiring drawing

Wiring drawing

Wiring drawing

Label pasting drawing


